Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 3341101 Date: 12/12/2015
Subject Name: Microprocessor and Assembly Language Programming
Time: 02:30 PM TO 5:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q1 Answer any seven out of ten. €£2H{ll SleUQL Ulctotl wclled AL, 14
ystqa L How many bytes the 8085 microprocessor can address ?Write data handling capacity of
8085up
1. 8085 HIBSIUIRAUR 3ecll cllgeal AJA 531 232 8085 HISSIUAMRA 32t doscllo
U] el
2. List Hardware Interrupts of 8085 microprocessor with its Address & Priority
. AU AA YWARE A 8085 HIBSWAUR0( slEAR B2 AvL.
3. Compare (1)Opcode Vs Operand (2)Instruction cycle Vs Machine cycle
3. URWLAL (1)AUSLS ([lUReSs (R)8o2 2ol AULBSA (A Hallol WHsE
4. Write function of stack pointer and program counter register
¥, R§ WdeeR el YoUH s1GeRell stadl Aull,
5. List the name of addressing mode of following instruction(1)LDA FFOOH(2)RAL
U A Sorgsalet Wiz A{AoL WS cdvl.(1) LDA FFOOH () RAL
6. Give the full form of PSW.When pin ALE=1, AD0-AD7 bus contains address or data?
S.  PSWoj 3y ot cull. >R ALE Ulot 818 Slal R ADO-AD7 ¢ UR 9 6317
U3 5 dal
7. Write appropriate instruction for following function.(1) (A)-(D) (2)(A)<( A)
9. AU $52lot HIR Borg52et AML() (A)-(D) () )(A)&(A)
8. Define (1)memory map(2)Timing diagram
C. vl AL(2) AL Au(R) atsHlol stauaux
9. Classify instruction set of 8085 microprocessor on the basis of their operation. Give one
example of each one
¢.  vURAel AU 8085 HIBHUNAARe Borgslel A2e] o0 $A.E59] Ws
GELSWL UL
10.  Write a program to move content of memory location 2040H to register C.
0. 2040H AHI| A2lotall 32l W C Ul Yol scll Hidall YIAUH v,
Q.2 €)) Draw Flag Register of 8085 microprocessor & explain it. 03
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8085 HIBSIYlAUR0] $AIL %2R EIRL wa ALl

OR
How many memory locations are required to store following instructions?
(1)JC 4050H(2)OUT 55H(3)XTHL

WAL Ber252olal RN 5cll HIZ decl AU ABet S18A?

(1)JC 4050H(2)OUT 55H(3)XTHL

Fill in the blanks

(1) mode is used in 1C8255 to set/reset bits of port C.

(2) instruction is used for BCD arithmetic.

3) are temporary registers used internally by 8085 microprocessor.

wLl ol YA
(1) 1C825541 We C il olle A2/ s2el S duRvA B,
(2)BCD wIlandlsul o2 52lotoll GUADL A B.

(3) 8085 HIBS\URAUR gl So2olcll GUANIL Ul )R 0.

OR
Explain basic concepts of memory interfacing.

A3 goz¥[oL QA AMestAl.
Compare Memory mapped I/O and 1/0 mapped 1/0O in 8085.
ARWULAL (1) AHZL Ats S (A, A ALs AL

OR
Draw interfacing circuit of LED and switches using 74LS245 with 8085 microprocessor.

74152450 GUAL 53l 8085 HIBSIUARRS(l LED ol switches 4l{l
B2 3oL ugle 1R

Write a programme to count number of 1’s in given 8-bit number stored at memory
location CO50H .Store result in memory location CO51H.

C050H AHIL AdaltHl ¥ 8-0{le oloul -’ 17s ofl vaul awlla Co51H

AHI ABAAHL RNR sRclloll YaUH Ul

OR
What is bus? Classify it. Give the function of each bus of 8085 microprocessor.

WA 9 87 doj cdllsL 5. 8085 MBS NAURC €35 we] sl cAvl.

1. The 1st cycle of every machine cycle of 8085 microprocessor is a

a) Fetch cycle b) Execute cycle c¢) Fetch and execute both

2.Port address in 8085 microprocessor is

a)4-bit b)8-bit c)16-bit

3. How many address lines does 8 Kbytes memory chip needed to select memory
location?

a)3 b)10 ¢)13

1. 8085 HIEs\AURC{l €35 Hallol WBsAHAl USAL ABsEAH 58 B.

RU)SU ABSSA(A)As 52 UBSA(S) 5U Bl Asoflsge UBSAH Gial

R.8085 MIBSIUIAMR] W AJA 59 sl B.

)%-olle (o) ¢-olle (5) as-olle

3.¢ (sAousesll AHAl RuHl AHI A RAs2 scl H2 3ecll A3 ALt
R SA.
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Write the functions of following pins

(1)TRAP(2)HOLD(3)SOD

ol Aol Ulototl st AW (1) TRAP(R)HOLD(3)SOD

Classify instructions related with branch group. Write the output of following
programme

LX1 H 2050H

LXI1 D 3050H

DAD D

HLT

Wi YUoll 8orgs2lole] o520 5ol Aoll Yol Ho] MG Y2 AV

LX1 H 2050H
LXI1 D 3050H
DAD D
HLT
OR
What is looping, counting and indexing in 8085 microprocessor?

8085 MBS AMGHL ¢ UloL,51Ge2lol daul 8odslol g B?

explain following instructions
(1)IN 40H(2)LXI H,2040H

o{lAll Borp st UM
(2)IN 40H(?)LXI H,2040H

OR
Write the flags affected after execution of each of the following instructions
(1)STA 3050H
(2)STC
(3)XCHG
(4)INXH

ol Aol Borgs2ol AP Ul ULl €35 U2 $Ad0] R2U AV,
(1)STA 3050H

(R)STC

(3)XCHG

(¥)INXH
Draw timing diagram for LDA 6070H instruction stored at memory location 6060H

AHZ] ABAt 6060HE RR $A B2 52Uel LDA 6070HL 2LesoL stauouH €L,

OR
Draw timing diagram for MVI A,44H instruction stored at memory location C010H

AHI AB At COL0H Ul RNR $3A B 52Ul MVI A 44H ol 21801 SLALUH
R\,

compare following instruction
(1)SBI 55H and SUI 55H
(2)RAR and RRC

(3)CC 4050H and CNC 4050H

o{lAe{l o5t UL
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Q.5

AU

(@)
()
(b)

(«)

(b)
(¢)
(©)
(8)

(@)

(W)

(b)

(¢)

(©)

(8)

(d)
(s)

(2)SBI 55H ¥ SUI 55H
(R)RAR U RRC

(3)CC 4050H 3l CNC 4050H

OR
Write a programme to multiply 06h and 07h

06h 4l 07hall JRUSIR scll Hidall YU G,

Write a programme to form a time delay loop using single register and using register
pairs

Rl 2@ A YR URell GUAdL 53 2l8M SIA U cdwellsll Yo

AL

OR
Give full name of PP1?Draw the block diagram of IC 8255

PPloj ] otl3 (Ul IC 825501l 6cAls SlAUH ENRL.
Draw and explain internal block diagram of 8085 microprocessor.
8085 HIBSIUIRAUR So2olcd 6AlS SLAUH E1RL Aol AUl

Compare following instruction
(1)PUSH B and POP B

(2)dZ 2050H and JNZ 2050H
(3)HLT and NOP

(4)El and DI

o{lA{l Bor 52t UL
(1)PUSH B and POP B
(R)JZ 2050H and JNZ 2050H
(3)HLT and NOP

(¥)EIl and DI

Explain with diagram the demultiplexing of multiplexed address/data bus of 8085
microprocessor.

8085 MBS AM{l Ul iAsy WJA/32l el slHcElvaslol st €Rla

AHosL Al

Find the output and status of flag registers for following programmes
(1)MVI A,FFH

ADI 01H
(2) MVI A55H

XRI FFH

o{lAetl YoUH HI2 AL %92R0] 2U A UlBaye AU,
()MVI A FFH

ADI 01H
(R) MVI A 55H

XRI FFH
Define(1)stack(2)Interfacing(3)Architecture

vl AL (1) 5(R)8ee 51013 )uUSR5RUR
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